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Multipliez les nombres décimaux par 10 100 1000

Nom:

9,653 x 100 =

8,787 x 1000 =

4,389 x 1000 =

1,779 x 1000 =

8,819 x 100 =

9,185 x 1000 =

10,277 x 1000 =

5,236 x 100 =

8,255 x 1000 =

1,744 x 1000 =

Date:

1,39 x 100 =

2,508 x 100 =

8,327 x 10 =

10,23 x 10 =

5,521 x 100 =

6,433 x 100 =

3,035 x 1000 =

10,591 x 10 =

10,378 x 1000 =

2,141 x 1000 =
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@4

Multipliez les nombres décimaux par 10 100 1000

Nom:

9,653 x 100 = 965.3

8,787 x 1000 = 8787

4,389 x 1000 = 4389

1,779 x 1000 = 1779

8,819 x 100 = 881.9

9, 185 x 1000 = 9185

10,277 x 1000 = 10277

5,236 x 100 = 523.6

8,255 x 1000 = 8255

1,744 x 1000 = 1744

Date:

1,39 x 100 = 139

2,508 x 100 = 250.8

8,327 x 10 =83.27

10,23 x 10 =102.3

5,521 x 100 = 552.1

6,433 x 100 = 643.3

3,035 x 1000 = 3035

10,591 x 10 = 105.91

10, 378 x 1000 = 10378

2,141 x 1000 = 2141
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